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YANSWER TIE FOLLOWING QULSI TONS AND CIRCLE THE CORRECT ANSWER ON THE COVER h!!EET
E\% FROVIIJED CONSIDER g =10 m/s* and approximate your answer to those given for each question -
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QJ} Gm:n A=5i+ 2] -kand B =di-3j+ 2k, themagnitudeof R=A -2 B iscqual lo} o /
*"‘a)il 2 by 10,7 &Y d) 1t £

e 15 -
QJ) Lo question 1, the angle between the two vectors A and B is cqualio;
QS .

pet'g b) 66.9 )7L d) 90,0 -

':'*f-" ne 'u},f" =

Q_'l) If Cisequalto A x B where A nnd B8 are the two vectors given in question | . The vector C is cqual lo 1/
"UI =2k )L -2 ke i -I0]-20k d)F BI-17k

it Q.4) The time dependence of the position of a panticle is given by s(1) 58 t* +2 where X is in meters and 1 in soconds . The
~average velegity of this particle I ihe lime interval between | =2 s and L= 3 s inumis of ( nvs ) is cqual to |
a) 25 by 30 o) 35 @40

) Att=1 (s), apanicle moving io the X-Y plane with velocity v 25§+ 5] nvs and aceelertion givenby a=21=1]
l‘ mll *The velocity of the particle att = 3 (s) is equal 10
D a) 81 -j B 0§ -j @i -j dy7i -j
¢
W0) A panicie moving in the XY pliane according 1o ihe ;':;Hu\viug cquation of inaticn r= 2 i+ 31" | m . Theaverage
== acceieration of the paricle in the tme nterval between 1= 3 sand L= 3.4 s inunits of ( nv/s®) is equal (o :
3 a) 354 | 1) 56.7 } @571:;‘ d) 549 j

Q.7) A ball is theowst with an initial velocity v =31 +2 § (s}, The velocity of (heball at t= 0,04 £ i units of (g) is
a3l +17)  @3iv16] ST IY] @30 +18]

Q.8) In question 7 , the venieai displacement of the particle at x = 0.5 (m) is equal to (:/
7 2)0.06 @ v-19 ¢ 0.1l d) .13

) In question 7 above, the mnge of the ball is equal 1a VV
/1.2 m bj4.2 m c)24 m 072 m

A particle moving ina circuiar path ol mdivs | movath a speed v = 3 0 mfs e pognitude of its aceeleration st 1=
inuaitsof { /5 °) 8 equalta;

JJJ: b) 3.06 c) L d) 175

QULY Tree blocks in contact witl eacl othicr are pushied across a rouglt horizomal sucface by a 80 N furce as shown 1a the
figure Eelow . If the coefTicient of kinetic frictian between tie blocks and e surface is ¢ 0.25 ), the acceieration of each block

Jkg

4 kg

) 3.0 @ .4 dy 5.0

Q12) In the figure below , the soellicient of kinetic friction between the block and e incline is 0.6 . The acceleration of the
sr;cn.du:d block in units of nvs® 15 equal to * - -
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